00000 (linked list)

“0O00b0oboooooooboobooor
gobobooogoboood

I

00 (node):
e OOOOODODODO
e OOOOODLDODOOO

— 0o0oobooobooobon
gboobobooboobod

—ooog v 1—




int00 000000000

e JUUOUOUOOUOOODO

typedef struct node {
int val;
struct node *next;
} Node;

e IUDOOOUODOOODOODODDOO

typedef struct node {
int val;
struct node *next;
} *Link;
—0ooo v



goooooogon

e JODODO

e 10

e (10

—oooo v 3—



Oo0ooooooooo
target tmp

! )

T p—- |“ .

(1) COoO0oO0oOoDOoDOOoOooooooooo
gobooog

(2 CooOoooOoooDoooO

(3) DC0OoUoOoUOoOoUOoDOoOoOoOOd
gobbobouogoobobooogoo

() 000000000000

—0ooog v 4—



goooooogon

target

—

I .

|
|_.

(1) D0oo0o0oo0oooODOUoODoDOooDoooOO

googod

(2 00000000ODOO0O0ODOO0O0OO0OO

(3) 000000o0O0oOOoDoOooOoooOOd
gbobobobobobaoboboood

(4) CO00DO0D0D000ODOOOO0OODOOOOoO

gooo

—oooo v 5—



00 3:(00 11/3(0))
ogopoogogo

Oo0ogoooooogg
ggooogogooooboooooogn
list2.c OO0 ooOog

e UODOUODLODLDOODODLUOODLODLODO
gboboodboboboooobobod
gbogoboobooboobooboo

e 00DOODODODO

e HUOOUODLODLOOUDLOODLODLOUODODN

—0oog Iv 6—



gbooboooooboboooooboo
goooboooooboboooobobobooo
gogbboboogd

e JOOO:
goboboooogboo

e I
O00O0000O0OO0oooooo

—ooog v 17—



goobogo

0000 (pushdown stack)

in \ /out

e00000O0O0OOODO
(0 000 (push))

e 0000000000000
(000 (pop))

Last-In First-Out (LIFO)

—ooog v 8—



00000000000 (pushdown stack)

e 1010
typedef struct node *Link;
struct node {
int val;
Link next;
+;
e 0JO0ODO: void push( Link, int );
e 0O0O: int pop( Link );
e 000: int isstackempty( Link );

—0ooog iv 9—



FIFOO O O (queue)

—

in

out

e O0OOOODLDDODOOO
e OO OODODOOOODO

First-In First-Out (FIFO)

—oooog v 10—



oo 5

obobobooboobod

gboboboooobbobooon

e OO OOODO

e JUUOUOOOODO

e JUODLDODO

gbbboogoobbboooad

—oooo v 11—



goboboooobobooon

obobooboobooboobod

gobbboodgbbobdd

gboooooggg

—oooog v 12—



goboboooobobooon
obobooboobooboobod
gobbboodgbbobdd
gboooooggg

— O (tree) O O

—oooog v 12—



O (tree)J O OO (binary tree)

—ooogd v 13—



0000000 (00000oon)

(1) (0oooooo)
00000000000000000000
00000000

(2) 0000O3+4x2 00 3x4+2 0000000
gobboooogbbodad
gogbobuoogobobooooon
gooboboood
gboooboobooboobo
gobboobooodan

—ooogd v 14—



goooogg

typedef struct no
int val;
struct node *

de {

left;

struct node *right;
} *Link;
val
left | right
s N

/

N\

—ooood v 15—



00 4:(00 11/10(0))
Oooooogono

Oooooooooon
oooooooooooooooooooo

tree.cU00OO0OO

—ooood v 16—



00 4:(00 11/10(0))

e UDUODLDUODODOOOOLOODODLODLODN
gboboodgbboogbbooobbood
gobboooogbbodad

~Jobobogbooogoooooobood
ggobobooooboood

«0o0oooboobobobooban
ggbobboggobbodao

e 0LOOODLDDDOOO
e D UOOOODODOOOOODLDDOU

—ooog v 17—



00 4.1

gboooboooooboo
gbobobouoogon
gbbboooobbboooobbbao
obobbooboobooboon

O: 123,45,678,90, 12, 345, 6789, 0

—ooood v 18—



goooooogoon

gbobboogobbbooobbon
ggoobobooodan

gbbboogobbboodad

O00O0D00OD0 newNode() DD OODO

(1) 0000000

(2) 0000000

(3) 0000000 NLLOOOO
(4) 00000000000

—ooog v 19—



goooogg

gobobooooboboboooooboo

gbobbuoooobbbouoooboboo

oboooooooooo n

— 0oooobogooobooooo i

—oooog v 20—



goooogg

gbobbooogbobuooooboboboao

e JUOOOOOO

e JUUOUOOOOO

e JUUUODODODDODODO

—oooog v 21—



goooogg

gbobbooogbobuooooboboboao

e JUOOOOOO

e JUUOUOOOOO

e JUUUODODODDODODO

gbobobodo
oooooobooboooooooon ?

—oooog v 21—



goooogg

(1) 0ooooooo
() 0000000000
(3) 000o0o0ooon

—oooog v 22—



goooogg

(1) 0ooooooo
() 0000000000
(3) 000o0o0ooon

gobobooooon
Oo(@ooooooo)oboooooO

—oooog v 22—



goooogg

(1) 0ooooooo
() 0000000000
(3) 000o0o0ooon

gobobooooon
Oo(@ooooooo)oboooooO

— 0ugaoooo
(recursive function call)

—oooog v 22—



